
THIS PRODUCT REQUIRES 3-5
PEOPLE TO INSTALL TOGETHER

 USER'SMANUAL
CHANDLER SERIES

12×14' METAL GAZEBO

4

4



3300lbs  [Do not stand on the item]



1 PC

2 PCS

4 PCS

1 PC

2 PCS

Parts List (Box A)

2 PCS

2 PCS 1 PC 1 PC

2 PCS

E1

2 PCS

E2 E3

E4 E5 E6 F1 F2

F3

1 PC

A5

A1 A2

2 PCS 1 PC

1 PC 1 PC

D5

1 PC

D6

3 PCS

D7

2 PCS

J1

2 PCS

J2 J3 J4

Parts List (Box B)

1 PC

A4A3



4 PCS 4 PCS

B1 C1

2 PCS 1 PC2 PCS

1 PC1 PC

D1 D2 D3

1 PC

D4

3 PCS

D8

J5 J6

Parts List (Box C)

R

3 PCS

K1 K2

7 PC4 PC

H5 H6 K3

3 PCS

4 PCS

S

9 PC

5 PCS



Parts List (Box D)

AA

M4x16

40+5 PCS

M6 M6x110 M6x20 M6x15

BB

20+3 PCS

CC

16+2 PCS

DD

16+2 PCS

GG

208+10 PCS

M6x120 M6x45

JJ

8+1 PCS

EE

16+2PCS

D8x180 M6x80

PP

8 PCS

UU

8 PCS
M6 M6

Z2

2 PCS

Z1

2 PCS

LL

16+3 PCS

20 PCS

Q

Before fixing the 4 columns,
please confirm that
the diagonal
dimensions and length
are correct.

M6x20

FF

20+3 PCS
M6x60

KK

25+3PCS



1.Our gazebo with a size of  12 ft. x 14ft. 
requires a recommended space of approximately 
12.5 ft. x 14.5 ft. for complete installation.

2.Before fixing the 4 columns, please confirm that the 
diagonal dimensions and length are correct.



1

A2 1x

A1 1x

GG 8x

M6x15

B1 2x

C1 2x

A1B1C1

GG

C1 GG

C1

A1
B1

A1
B1

A2C1 B1

A2

A2

B1

B1



2

CC 16xDD 16x

M6x110M6x20

A3 1x

A4 1x

A5 2x

B1 2x

C1 2x

GG 24x

M6x15

R 4x

A3

A3

A5

A5

A5

A5

A4

A4

R

R

R

R

R

R

R

R

B1

B1

B1

B1

B1

C1

C1

GG

GG

DD

DD

CC

CC

GG

C1



3

D2 2x

D1 2x

H6 2x

H5 2x

GG 24x

M6x15

D1 D2

H5

GG

GG GG

H6

H6

D1

D1D2

D2
H5

D1 D2



4

D5 1x

D3 1x

H5 1x

GG 12x

M6x15

H6

H5
D5D3

D3
D5

D5D3

H5

D3D5

GG

GG GG

H6 1x

H6



5

D6 1x

D4 1x

H6 1x

H5 1x

GG 12x

M6x15

H6 D4

H5

H6

H5
D4D6

D4D6

D4 D6

GG

GG
GG



6

D8 3x

D7 3x

H6 3x

GG 30x

M6x15

D7

D8 D7

D8

D8 D7

D8 H6

H6

GG GG



7

K1 3x

M6x120

8xJJ

M6x45

16xEE

JJ

D4
D6

D1D2

D1 D2

D5
D3

STEP1

STEP2

GG 12x

M6x15

K2 3x

STEP4

LL 16x

EE LL

A1 A2

A5

A3
A4

A5

K1 K2

K2

GGGG

STEP3
K1

GG GG



8

J1 2x

J2 2x

GG 44x

M6x15

GG
GG GG

K1

D8

D7 D7 D7

D8 D8

J3

J5 J2

J4

J1

J6

J1
J2J3 1x

J4 1x

J5 1x

J6 1x

K2

D7 D8



9

E2 2x

GG 20x

M6x15

E3 2x

E2

E3
E5

E1 2x

E3
E1

E1
E4

E6
E4

E2

E2

E3
E5

E3
E1

E1
E4

E6
E4

E2

GG GG

E4 2x

E5 1x

E6 1x

K3 5x

K3

K3

K3



10

KK

E2

E3
E5

E3
E1

E1
E4

E6
E4

E2

M6x60

25xKK



11

 FF   20x

M6x20

Q 20x

S 9x

BB 20x

M6

AA 40x

M4x16

FFQ
Q

FF 

S

BB

BB

Q
Q

Q

Q

FF

S

BB

Q

AA

AA

AA AA AA AA AA AA AA AA AA AA

S FF BB



12

F1 4x

F1

F1

F1

F1

F1

GG 10x

M6x15

GG

GG

F1

F1



13

F2 2x

F3 2x

F2
F2

F3 F3

GG 12x

M6x15

GG GG

F2F2
F2

GG

GG
F3

F3
F3



14

D8x180

8xPP

UU
UU

UU 8x

M6x80

PP PP

Nail For LawnExpansion Screw
For Concrete Floor


